Soustraction AVEC Retenue (G)

Nom: Date:

Calculez la différence.

6 100 9202 1520 5041 6 160
— 221 — 976 — 872 — 853 — 576
3112 4246 4 402 2745 5425
— 854 — 798 — 613 — 879 — 997
8 201 3122 5336 8 386 2 380
— 596 — 539 — 567 — 898 — 382
1506 1023 6701 6 000 7102
— 658 — 245 — 767 — 711 — 555
5024 5011 2102 2534 7012
— 569 — 257 — 513 — 698 — 117
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Soustraction AVEC Retenue (G) Réponses

Nom:

6 100 9202
— 221 — 976
5879 8226
3112 4246
— 854 — 798
2258 3448
8 201 3122
— 596 — 539
7 605 2 583
1506 1023
— 658 — 245
848 778
5024 5011
— 569 — 257
4 455 4754

Calculez la différence.

1520
— 872

648

4 402
— 613

3789

5336
— 567

4769

6701
— 767

5934

2102
— 513

1589

Date:

5041
— 853

4188

2745
— 879

1 866

8 386
— 898

7 488

6 000
— 711

5289

2534
— 698

1836

6 160
— 576

5584

5425
— 997

4 428

2 380
— 382

1998

7102
— 555

6 547

7012
— 117

6 895
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